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Instructions

' ~aner consists of two (2 .
This PAPEt & *{<) questions. Answer aj the question
~ S.

Calculations should be clearly shown

s for questions are indicated
\farks for que ated at the end
of each quest;

ion.
- 1~ulators and cellular pho
Calculators an phones are not allowed i

In the examinatj
on room

eleration due to gravit
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V. 2= 10ms?,
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You are provided with spiral spr
optical pin /pointer and p

Proceed as follows: . 1 the Z€r0 mark on top as shown in Figure |
(a) Clamp the meter rule vertically with t ‘
s OCE
- — ] T
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Figure 1

Suspend the spring on the clamp and attach an optical pin (pointer) to its lower gpg
aid of plasticine/masking tape.

Record the initial reading (y,) of the pointer at the meter rule.

Attach a 100g weight at the lower end of the spring, then record the new reading of
pointer, y. _

Repeat part (d) above by adding 50g weight at a time until the total weight of
suspended weight is 300g. '
Tabulate your results including a column of Load (in Newtons).

Plot the graph of extension against load.

What is the nature of the graph?

Determine the slope of the graph.

From the graph, calculate the spring constant.

What is the aim of this experiment?

Give one limitation of the experiment.

State the law governing this experiment.

State one source of error and one precaution to be taken when performing !
experiment. |
(25 marl

The aim of this experiment in Figure 2 is to determine the EM.F (E) and the ine?
resistance (r) of the dry cell.

(a)  Stretch and fix the bare wire onto the meter rule with cello tape.
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Cell
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Figure 2

place the jockey
reading V.

respectively.

Record the values of L, V anq 1
Vv

o in a Suitable table.

1 .
fy Plot a graph of v against L,
(g) Find the slope, s, of the graph.
(hy Find n which is the value of L whenL =
v . -

(i) Ca_lculatc the E.M.F of the dry cell from Eg = 0.015(cm™)
i) Using the relation r = 2(Q) x p x (E-1), calculate the i :

(k) State three sources of errors and three precautions to e et et

be taken in this experiment.
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